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STI2D - 1N4 - DERIVATION

TP 1B

Déterminer graphiquement I'expression de la fonction affine dont on a tracé la courbe :

1.

L/

j

(0]

/
fixr— e,
5.

N
N

= N

j N

L
FiXxr— s
9.

\\

it \

0 \\
FiXxr— s
13.

j |-
(0]
fixr— e,

2. 3. 4,
SN //

5 ™S N - .

1 i ) //

(0] ¥ |0 ol A
fixr— i, fixr— i, fixr— i,
6. 7. 8.

2 it ;

o olr o=

— .
/
FiXxr— s fixr— s FiXxr— s
10. 11. 12,

N/ . L1\

j4 / j j

(0] 0] (0] i\

\

/ \
FiXxr— s fixr— s FiXxr— s
14. 15. 16.

\
\

= \ = I =

i1, \[ [it) IEL IR

(0] 0] I (0]

\ /
fixr— e, fixr— i, fixr— i,




